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AP CHEMISTRY REVIEW: ACID-BASE REACTIONS..

Logarithms: Solve the following problems by re-arranging the expression on the line.

1. 10°=233 X = oy 233 <= 2.307Y

9395 ’
2. logx=1.9395 X = /0" X = 87

pH Calculations: Solve the followi problems. Show all your work!
3. [H]=1.0x10"° M; pH = - /oj (1o x 07 =10

10
4. [H]=3.22 x 10° M; [OH] r311x Jo /l‘ﬂ 107"
g.zzx 10.?5

5. pH=2.55; H]—’ 87 % I6° 7 | -2.55 _
—————

10°°°% 0.002%2M

6. pH=5.89; pOH:@ 4~ 5.81= gl

1"

7. pOH= 4.22; [H7]= .66 x 10~"°M] . Y2z = 9.78 107 H% /44, o M

\ Neutralization Reactions: Com?lete and balance the following neutralization reactions.
8. KOH + HCl —» Yo +  HoH

9.  H80, + CaOH): — (oS0, + & #, O
10. Al (w)s + ZHW0: -  ANO), + 2 HOH

ZNaOH + H,02 - Naco, + ZHOH

Acid-Base Reactions: In each of the reactions below, identify the acid, base, conjugate acid
and conjugate base by labeling below each compound.

2. HPo2 < % "H,0 - HPO, + oH'

Rase Aerd lony. e~ Lous. Rase
13. H0% + “HCO0; - HCOS! + MO0
80.96 AC' (0'_1'3. Bos( (on‘\ AC‘J

14,  HNO,~ +> NH; -  NHM +  NO;?
Acid Base Cows, Acd Cow,. Basc

>

S —
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Titration Problems: Solve the following problems. . Show all your work. ...

15. 10 mL of 1M HC] are titrated with 0.254 NaOH. How many milliliters of

NaOH are needed to titrate the acid? |
7 Bo&c s X mklr (owCeA‘J\mmo,\ (]M —> 0. 25 /M>

So Yy MRE wluwe will be neekd

16. Megan titrates 15 mL of HCl with 8 mL of a solution of 0.1254/ NaOH.
What is the molar concentration of the HCI solution?

Mo+ /7/(( —> M« ¢+ /‘%W‘f

¥
0.008 L

frc] = O‘“—*—“;:;Mi —.{0.067*‘/17}

17.  Jacob performs a titration on 2 10 mL sample of H,SO4. Ifhe adds 23.3 mL of a
0.50M NaOH solution, What is the molar concentration of the HySO4?

Z NaOH ,4/50,/ —s M, S0, + 2 //0/7/
O.5°m Nt -

x = 0.001 pslee flaoH

0. 1Z5m A/al)?l/ -

0.0233¢ 2wl

SE3a/
{#So] - Ooo.oo (Z L

18. A buret is filled with a solution of 1.0 KOH and used to titrate a 15 mL sample of
H3POy4. The initial reading is 11.0 mL and the final reading is 33.8 mL at the
endpoint of the titration. What is the concentration of hydrog gen ions in the acid
solution? What is the molarity of the phosphoric acid?

ke + ﬁépo‘{—f% szoq"{rS/-/o/*/

V= 33.8ul - Jloal ~ 22.8ml Ko

l'l PQ«.( 7(9:»’ |
oM K v = 0.0228 wol 1 N7 _ 0.00
f - 0. ozzz L T2 K HoPoy

oozzxm/ OOO?ém/ ] _
{H] 0.05¢C “ f#PO‘,] — . =|0-51m

x = 0.0 17 woles Aao] . ._L"_"—-"é?—o-"—- 0.00583+( .




